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A 5|'mp|e Pendulum 1S heu m -QE_UA:‘;LI’(MM [)\/ 0
-forigontal wire AB, s Shown in F.‘a. 1. Let Ty be

the tension in the wire OA when -the pendulun

is at rest, What i3 Hhe fension T in the
wire OA ol the inslant affer the wire AB

is cut 2 (10%)

A um'{orm bar AB Wefjh"na 25 bois Il.'naeJ al 0
by a smooth l)earl'ng and  held hon’zonfully by o
S‘tr;ng 5\&”?0I’+ af en(l B ( r‘? 2) A.‘)St\l)h'ng_

thet the 5fr.'n3 is Swuenly Lro}’qen} dedermine

the reaction at 0 at the instart the bar
Sturls 40 rotate, (1o%)

A parkicle P moves with constant relative speed Us
along the  circunference of & circular tube of
radivs R while the dube s ro{ah'ng with 4 conslant
anamlqr velocidy about a tube dismeter | as shaun
in Fiq. 3. Defermine the velo(,i{a and acceleration
of the particle ot the position shown, ([0%)

A circilar cylinder rolls without slipping
on & hgr:éonw swfauce(F:a 4.). Delermine
the work done 137'

(@) the normal reaction force,

() the friction force.

Explan. (10 % )
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‘\\\ A 5. A W"'](O""\ Cl'rcu\'c\r Ska{f made OF
_. L 35°4r0|>fc material ,is loaded 1>~/ er.'s{.'n&

T :,' Couples T at ifs ends. (.l?,43.,5_)
;’ / (Q) Defermine the stress (amf)onen{s a‘f' Fo‘..{-
! Z ll A in the XnZ—CoorJa'nafesl I e’.)(le"erm.'ne

I L I Oxx , 67(3 ,-o, ele, at fa.‘ni A.

F;j' 5. (5) Does Iengﬂ. L increase or decrease ?

Why 2 (20%)

é. Show '“‘h{ 'H:e axml Je”éc{fan u O-{;
7 Qa iSOh'OFl'C bar with cross-section areq

Al is aoverneA by

d »
4z (AE 4%)= - P

4
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where P&x) is the disdribuled load

Pa(, al x ard E i¢ dhe youngs modulus.
yourd ,
(10%)
. Defermine the cribcal load Por 7. Consiler an infinle g bean o1 elsfc foundatin,

a5 shown ia F‘:a.?} where & is the foundakion

¢ the rigid bar - sprin t
~F¢ i (= spring systen modolus (iie., the spring sk{{"?ﬁ ber unit X leng{h)

Shown in Fa 5. (/5%> and P(X) 15 the loaJ.‘né_ ( /_S'OA))
. J’_P (@) Show that ;HM deflection Ul) s qoverned L7
— I ]
c (3: >frin3 Consfanl’. ET d x* + 'F{u — F(x)
(1) Determine the de Hec{ion Uy and moment
L _ My i pexy= C for~a0< X < o0,
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